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1. TEEE [ S S 3 w0
) ST (2) T @ = (@ e e
Which one of the following is a country of depopulation ?

(1) Japan {2) India - (3) China {4) Bangala Desh

2. 1 9%® 2010 WA YA W TR T afor T fawor Saemr ©e aTgEt S oA,
(a) 5 F9T=A 1M qRETA e wfea H.
(b) 5 rra Torern-faenell yoroTTER e fro w0

(©) arfafer fasmrin 5 aten o wfesm 30,

(d) sTRFE gigw gEfaor
ThoUP FIORT aUA /AT 37 2
M @®HIO @ OICQ @) W () @) wd

The Right of children to free and compulsory education Act implemented by Indian
Government on 15t April 2010 includes the following provisions :

(a) neighbourhood schools to be established within 5 years.

(b} provision of teachers as per pupil teacher ratio to be made within 5 years.
(¢) Training untrained Teachers within five years.

(d) provide health facilities.

Which of the above statements are correct ?

(1) (a),(b)and (c) (2} (b)and (c) (3) Only (¢} {4) Al are correct
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TERIHS AT
T IR
iy deve
StereRT WA steraret
@ @M (© (@
(v) G @) (i)
M @) @i (iv)
(i) @) (i) (iv)
M @) (v) (i)

(it)
(i)
(iv)

SAARC Youth Award Winners and their work :

(a)
(b)

(<)

(d)

1)
(2)
(3)
)

Winner
Mr. Mushfiqul Alam
Mr. Hassan Sher

Mr. Ajij Prasad Poudyal

Ms. Anoka Primrose Abeyranthe

@ ® ()
(v) G) @) ()
@ G @) Gv)
@ @ @i @)
) ) (@v) (i)

{
(if)

(iii)

(iv)

TR e S gEE g
&S, TS/ ST
G FE EE SFgSAIG ARTEE

Work
Creative Photography

Invention in the field of traditional
medicine

Outstanding contribution to raising
awareness for TB and HIV/AIDS

Qutstanding contribution to the
protection of environment
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4. TR TMfaE aRE RUE W=l faeen wRaren ufiieH gRRiE 39 et qaig s e
Fo T R4 ?

(1) = (2) Ty (3) wAke® (4) WIS

UNESCO has announced thirty nine sites as world heritage sites in Western Ghats of
India, which state has the lowest number of sites on the list ?

(1) Kerala (2) Tamilnadu (3) Karnataka (4) Maharashtra

5. sriawusiy It e qeaiE mEmgR YRare | S uEasg’ Wretedst Hivw g s FToar
3 ? .

(1) W - 1975 (2) U - 1977 () T-1980 (4) “HEW - 1982

When did International Commission for assessment of small pox eradication declare India
as a - ‘Small pox free country” ?

(1) March-1975 (2) April - 1977 (3) May - 1980 (4) January - 1982

6. 2 GHSIIAN T (2R 3ieeye E Gve UeRy) o ufaaay Sed< e 1936 9et
W, TN S 7 G e A T e ?

(1) Wi 7@ e o JiiE TN 7%
(2) T IS TR UUE o NE WHe I
3) W EETd T TR T 3G 9 o
(4 WIS 2 T o A e T

The Prestigious Tata Institute of Social Sciences was established in the year 1936, What
was its original name at the time of inception ?

(1) Sir Jamshetjee Tata Graduate School of Social Work

(2) Sir Dorabjee Tata Graduate School of Social Work

{3) Sir Ratanlaljee Tata Graduate School of Social Work
. {4) Sir Behramjee Tata Graduate School of Social Work

FHoAT HIMTHS WAT /SPACE FOR ROUGH WORK
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v,  WES T T fEEmr T A e S| (A9 uHiy fHasn)

6

qrer .1 G arEr wh.2 femwror
(a) TERAEE T den (i) Reud
(by s wrAEew famenn |een i) HTH
() FEfAREINEAT HelciiFomaTat L He (i) g
(d) T e e s s W (v) <

| (v) TasheuemE
qﬂh:

@ (b) (¢} (d)
M vy @) O @)
@ O (v Gi) G
@) @) @ () G
@ O @ (@) (i)

Match the instructions and their places.

(Use correct codes)

List 1 - Institutions

(a) National Institute for Visually Handicapped i)
(b} National Institute for Mentally Handicapped {i1)
{c} National Institute for Empowrement of Persons  (iii)
with Multiple Disabilities
(d) National Institute of Rehabilitation Training and  (iv)
Research
(v)
Codes :
@@ (b) (o) (d
(1) (v) @) ©H ()
2) @ (v i) (@)
(3) (i) @ ([dv) (i)
4y (G (v) @)

List 2 - Places
Dehradun
Kattack
Mumbai

Chennai

Secunderabad

Hodl HIEIS W /SPACE FOR ROUGH WORK
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8. UYEWI® TAUYeT ST TR

T wreAfis faen ifqam @1 desiaa STos Y& SN A oTRY ¢

(@) it FtEen (b) WA

(c) st (d) TEEER

(e) IS giaw (O T v feeprarEl frand T
T I

1 @ (2) () 3B (9 4 (o)
Odd man out

Important facilities provided under the scheme - Rashtriya Madhyamik Shiksha Abhiyan
are :

(a) Additional class rooms {b) Laboratories

{c} TPlay Grounds (d) Toilet blocks

(e) Drinking water provisions (f} Residential Hostels for Teachers in remote areas.

Answer Options :

1 @ ) () @) (© @ (o
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(1) TeEds sem s
(2) HERIE TAVH AT
(3) wfEe wrda 4TIy v
(4) Fhet= FoT=E TEL

Following logo belongs to

(1)  Untversity Grants Commission

(2) Maharashtra Technical Education Board
(3) All India Council for Technical Education
{4) None of the above

10. HRAS WLTY PhUEI] HI0 FIA 9o 23 7

(1) ¥IR F (2) fav 3a

(3) VEUHST UHITHFTRS B TI@aT (4) T YFTHSA TEIHS TV TG
The National Population Policy in India encourages.

(1) Joint family (2) Nuclear family

(3) Urban to rural migration {4) Rural to urban migration

e HIUTAE AP /SPACE FOR ROUGH WORK
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11. 379 s oEL.
(a) TS =Y () o
(b) ¥ TEF Wy (i) o1 W
(c) SOEEETwIYS (i) &S A
(@ <fET e g delw (iv) 3TEVm TA
WIHGIEH! FHI0ET SE WY 1R ?

@ () () {d)
1y @ @) @ @
2) @) Gv) (@) ()
@ a (@ O )
@ O G @ )
Match the following :

=

(a) Floodgates (i) Kiran Bedi

{b) A Life Shared (ii) Ela Bhat

{c} Organising for change (ili) Sai Paranjape
(d) Taking up the challenge {iv) Aruna Roy

Which of the following match is correct ?
(@ () (© (@)

(1) @) @Gv) @G @

) @ @) Gy @

@) @) @) @O (Gv)

4y @ Gy @) Gv)

12, vifes sfn g wern mearE fern anfin sross A= SRS QURTIER |ietetEt
FIUT A AR ?
(1) oo Friem suftn $da Feam FrRiET
(2) U 9@ faer dar e
(3) TS Fa A WA IS
(4) IS SR Ffor G A

Which of the following programmes proposes to improve the nutritional status of women
and children through healthy and balanced diet ?

(1)  Family Planning and Welfare Programme

(2) Integrated Child Development Services Scheme

(3) National Family Health Survey Scheme

(4) Primary Health Care and Nutritional Scheme

FHoT HINTHIGT ART /SPACE FOR ROUGH WORK
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13. ¥R faemdis e (AIV) EEietst SR w1 F09 T 2
(1) HARfRmie 9% TEEars TS F1,
2 gﬁmﬁmmﬁwm#ﬁmmﬁﬁﬁmﬁmmmﬂﬁwﬁﬁﬁm
(3) IR foamdidin fofer Tyl o F13,
(4) S faadiisha Thei o F1d.
Which function Association of Indian Universities (AIU) does not perform ?

(1}  AIU holds Inter University Youth Festivals

{2) The home stay exchange schemes offering opportunity to live with family of the
other region or state

(3) Conducts Inter University Sports

(4) Conducts Common University Examination

14. WIET=A1 JaqET= UF S=aid UeoiR ginedt e, foren 329 wRard g@rad
IS IREdtd e g1 SR,
(1) US4 2) WHAL 3) WELaRFA. (4) L
The is a high level Commission/advisory body to the Prime Minister of India
with the objective of transforming India into a knowledge society.
(1) NK.C (2) N.CTE 3) N.CERT 4) UGC
15. 3-fen @ wpe PPP (WESf1s @it wrieR) w3 fafay uer vwmeeiar e smitaa
Fo. W A EE
+ T+ + 3T+ A+ q+
1 %% @ TLA G AZHA 4 TFA

— E - Shiksha @ schools is a PPP {Public Private Partnership) model implemented in
co-ordination with the various state governments, guess my name :

+ E + +A+N+T+

(1) V,D,1 2) HMA @) V,D A 4 EKA

Tl HIAATH ST /SPACE FOR ROUGH WORK
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16, TOTOYFH! IR TN TR 3T ?

(a) 2007 R STITE AW AR oA gFRETATH] 9gF WewurEl iy TR s
YEEwAl S U <9 WRA o

(b) s gEie TR faluidte dqF Tgdar srfygHt ot fas 7 T, i
YT T yREN- faiuRe st g aRam 2011 98 7R Sen.

i IW

(1)  F {a) T MR (2) H (b) T IR

(3 (a) A (b) IF TR TR (4) () 3001 (b) Tt I

State which of the foilowing staternents are true :

{a) In 2007, India became one of the last countries to ratify the UN convention on the
Rights of Persons with Disabilities,

(b}  In 2011, India ratified UN convention against transnational organised crime and its
three protocols and UN convention against corruption,

Answer Options :
(1) Only (a) is true (2) Only (b) is true
{3) Both (a) and (b) are true (4) Both (a) and (b) are faise

17.  {TMER TEIOa0 o T TaEeR oaiie oiee e, W s YN, WA ahT
S w9 faehEiR Tl Tedig 20 T HreEitd d9d Y9 HhAhEL HId [T o8 7

(1) wRe (2) TERE (3) diHeTg (4) &

On the basis of Panchayat Raj anid Rural Development, which state stands first
continuously for the last 20 years in respect of Womens Empowerment, Health, Pure
drinking water, Human Rights and Decentralization of powers ?

(1) Maharashtra (2) Gujarat {3) Tamilnadu (4) Kerala

18, Tete fauM veE.
(a) TOM FAARTR TEafswi Wi &0 ¢ T T2 Fasd M2,
(b) T M G E ST e e T F SRR SR,
(1) (o) TR G (b) TF (2)  (b) HIa g (a) TF
(3) (@) (b) AR} TR (@) @3 (b) TR IF
Consider the following statements .
(a)  According to Muslim Law only sons have the duty to maintain their aged parents.
{b) Both sons and daughters are bound to maintain their parents.

(1)  (a) is correct but not (b} (2) (b} is correct but not (a)
(3) Both (a) and (b) are correct (4) Neither (a) not (b) is correct

THEAT THIAMETS A /SPACE FOR ROUGH WORK
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19.

12 A

TiEeT ATSIHTNG IV T /AL WTete TTR T Feor AR ?

@) T deu Tl o HeuHE S5 TS YA AR WHSE W0 9 Eee 9 fifa,

{) E-TREOTET e faEteq F, 3T age Wie It e de auaier favag
I =9 e et s

He

(a) HIH TR FZa FARE 482 (UNFPA)

(b) TIF TR WAL dio T 745 (UNICEF)

(c) Wgw Tw ofee fowm 4t (UNDEW)

(d) ¥Iw T fam FEFT (UNDP)

™Y

(1) (a) IO (d) F (2) (0) B (3) (a) 3T (B)FH (4) (a) T

Which of the Organisation/s include the following factors in Women’s Empowerment ?

(i) Acquiring knowledge and understanding of gender relations and the ways in which
these relations may be changed.

(i) Developing a sense of self-worth, a belief in one’s ability to secure desired changes
and right to control one’s life.

Organizations :

(a) United Nations Family Planning Assistance (UNFPA)

(b) United Nations International Children Education Fund (UNICEF)

{c) United Nations Development Fund for Women (UNDFW)

(d) United Nations Development Programune (UNDP)

Options :

(1) @and(dyonly (2} (Jonly (3} (a)and (b)only (4) (a) only

20.

T 2005 Wed HRY FoeA Y Fmfer derd Teietet FAET aHE T8 2
(1) o 2y ™ (3) w==dl (4) TEER
What does Bharat Nirman Yojana launched in the year 2005 not provide ?

(1) Irrigation (2} Roads (3} Sanitation (4} Telecommunication

HEEAT HTES M /SPACE FOR ROUGH WORK
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21, TS TRl Afvas® SRR I Sies .
(a) oI Ty SHa: WA 9 WHH AR, ) FOW12
(b) TEAHM @ SqUEET SfaE AR, (i) FoU1
() TCUTHIT USTHRIG HEWFH §ioaren SR AR, (i) %9 3
(d) VN Sifaarn sfsr o (iv) w9 21
@ (b) () (d)
vy O @ @) )
(2) @@ @ (v) (i)
3) G (v () (W)
@ @ 6 @ W
Match the pairs in terms of the World declaration.
(a) Everyone is born free and equal (i) Article 12
(b) Everyone has right to privacy. (ii) Article 1
{c) Everyone has right to participate in politics (iii) Article 3
(d) Everyone has right to life (iv) Article 21
(@ () () (d)
) @ ) G (i)
@ @ @ (v) (i)
G) @ (v) @) (i)
@ (v @ @) @@
22, & widio 9aid et WY SER 4o SR,
(1) UFY RR FEFT (2) WEATE AN FEEA
(3) 7Y FTHHA (4) TS SN FRwA
The is the world's largest school feeding programme.
(1) Nutritious Food Programme (2) Mid Day Meal Progtamme
(3) Milk Programume (4) Lunch Box Programme

23. USHE W91 AHaEd [Eo Siva fauam et i ?

(a)
(b)
(€)
()
(1)

Ve d Aefauedrie qev faaaie 9fty 9 awiva Gem sravaetan st
HE M W VATl quid 1969 95 [URY.

T &1 g Hieae = i @ 7o'’ 3 ' weifaemeg § e

AT SraTevaTn Al uE o TR Wy g

T (b) (2) v (o) (3) ®H (d) @ (o) =nfor (d)

Which of the foillowing statements about the National Service Scheme is not correct ?

(a)

(b)
(c)
(d)
(1)

It is started with the objective to develop character and personality of student youth
in schools and colleges.

It was launched during the birth centenary celebration of Mahatma Gandhi in 1969.
The motto of the NSS is “campus to community” and “college to village”.

The approach is “Not me but you”

Only (b) (2) Only () (3) Only (d) @) () and (d)

THEAT FHHERET AT /SPACE FOR ROUGH WORK
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24. WA o steaTe a9 sy fom -
(a) S 9 STEa 2001 - Rl f9FH 29 ;. Wt gefauamTet TR g
(b)y AT fP A 2006 - TEASA THHS; T, T =nfo Afvaw W dHe
(c) T fawm TEa 2008 - reavier fawa « ama nfasiear snftn e
(d) WFE g™ s 2013 - it 339 - fafaw 1ol favemsd wma fasm
TAGTH! HIR TATF FART R4 7
1) (@ (2} (b). (©) I {d)
(3) (b)3A(d) (4) Td alET 3.
Human Development Report : Year and Subject

(a) HDR 2001 - Millennium Development Goals : A common understanding among
nations to end human poverty.

{b) HDR 2006 - Beyond scarcity ; Power, Poverty and the Global Water Crisis.
(¢) HDR 2008 - Overcoming Barriers ; Human mobility and development.

(d)y HDR 2013 - The Rise of the South ; Human progress in a diverse world.,
Which of the above options are correct ?

{1)  (a) and () (2) (b} () and (d)

(3) (b)and (d) (4) All are correct

25, IV TNl gl iEr UL R0 g e ?

(1) 1999 2y 2012 (3) 1990 (4) 2010
In which year National Policy for Older persons came into existence ?
(1) 1999 (23 2012 (3) 1990 (4) 2010

26. UESH T FIARIS FoH 12 H910 THFR TES FW SR 6 @] F0IH TOSiH! S
TOITAR A e ?
(1) TEs T (gH&il) HTEel 1986
(2) TIE® WXV (GO FRF 1990
(3) e WA (JER) HEA 1993

(4) TGS WIHW (EET) AR 2002

By which Amendment, payment of court fees while filing complaint under section 12 of
Consumer Protection Act is introduced.

{1)  Consumer Protection (Amendment) Act 1986

(2) Consumer Protection (Amendment) Act 1990

(3)  Consumer Protection (Amendment) Act 1993

{4) Consumer Protection (Amendment) Act 2002

HEAT HIETE I /SPACE FOR ROUGH WORK
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27, T famraTdie ST SEE1 it aee T R
(a) 9 HEAI AT
(b) ITHrO-fRisE st @ e
(€) YO8 9 AYEH T [T
(dy oy ferere & T Fafdet

o Y@t Hiow! faum s awd ?
(1) = (a) | ) (@), (c) 3O (d)
(3) (), (b) 3 (c) (4) (a) & (c)

Role of the merchant banks in rural development is as follows :
(a) Provide help to credit societies.

(p) Rural planning and credit

(¢} Provide direct and indirect credit

(d) Rural development and create employment

Which of the above staterments are correct ?

(1) Only (2) (2) (@) (¢ and (d)
(3} (@), (b) and (c) (4) (a) and (c)
28, SN §1 WSk TETe Feferd e grereAl SVl WRTIYA YT g ?
1y @ @r= @) T (4
Ganja is obtained from which part of Cannabis Plant ?
{1} Root (2) Stem (3) Flower (4) Leaf

29. TR HRIM FETSTIT Tod AR AL O Tewaioa T9edid Ifia Fem Ry o
¥R
(1) 9 (2) &Y
(3) e = dy (4 wTiE TER T
Under Consumer Protection Act the order passed by the President of the state commission
sitting singly without junction of any other member is
(1) Valid (2) Invalid
(3) Valid to certain extent (4) None of the above

30, Hf - ICT = foraome Usdians® (NME - ICT) . W& 16 _ + 3T+ _ + 3 +_ + 3 3%,
(1) 4,83 (2) 987 @) % 481 (4) 9473
I am the National Mission on Education through ICT (NME - ICT)
Mynameis _+a+_+s+h+a+_
() akr (2) skt (3) akt (4) s kr

HEAT HIUTEA ST /SPACE FOR ROUGH WORK
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31. o fremd v 6?2 e TOT 3 RIS YeE N ghe T S g0 9r
A e A foreneai @i THAYHI HeATA STATEt g 37|
(1) THdl T, 1992. (2) TE ReitEe {0, 1986
(3) HIER T, 1964 (4) IR s, 1952

Who recommended the following ?

"Students should be allowed to learn as per their abilities, considering four continuous
standards as an unit and not examining them in each standard for minimizing the drop

oul rate’.
(1) Ramamurti Commission, 1992. (2) National Policy of Education, 1986
(3) Kothari Commission, 1964 (4) Mudaliyar Comumission, 1952

32, ‘SeaO & nAUHENS AT ST TSI WISOhE! v TR 2
(1) wies=n sfas Mo 5 Y Siaey.
(2) Wi IMTHID WEA F.
(3) TfES=N GToF WLdS T <o,
(4) AAH FHIOEIE AL

“Ujwala’ Yojana is a comprehensive scheme which aims at :
(1) Prevention of immoral exploitation and trade of wornen
(2} Assisting women in enterpreneurship

{3) Promoting computer literacy among women

(4) None of the above

33. (a) ST TR AR 2002 WS IF HRFN AT &9 A,
() ¥ e SYHER, AT fai TR, 98 R 41 ged S w.
(c) STHURI ARUEH TR IS HHEE 38

THSTH! S TTHT T AR ?
1) (a), (b} 3T () WA M. (2) T (a) T R,
(3) (a) 3T (b) §E SR, (1) TSl THE

(a) The International Criminal Court was established in 2002, under Rome Statute.
(b) The ceurt deals with crimes like genocide, crime against humanity and war crimes,
(c) USA is a member of International Criminal Court

Which of the statements are true ?
(1) (a), (b} and (c) are true. {2) Only (a) is true.
(3) (a) and (b) are true. (4) None of the above

HoAT HIHETS AT /SPACE FOR ROUGH WORK
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34. Tt wRfEvie @ o ?

(1) TEEE yE (2) TE A G Imeie e 1=

(3) omfelen ferhmaTen WX @) et ToEe =R

What does the term Gini Coefficient signify ?

(1) The proportion of poor (2) The gap between the rich and poor

(3) The status of economic development (4) The status of educational quality

35, WIARIT TG $2R UG TSods! SR 2 Jafae 21 AR ?

(1) SRHT FYS A () W sEm

(3) FME TEvETE =M (4) I T IHT FYS

Which one of the following is not included among the principal cottage industries
in India ?

(1} Handloom Industry {2) Silk Industry

(3} Glass Industry {4) Wool and woolen clothes

36, TSY WEAR 2010 TS 'Fot Teitaqt A ATSW ANG. AT IEA 750 FOAERT &
Hoedl A1 AT e 3 1 ?
(1)  F SIS T o7 =
(2) SRF HHR
(3) ol AT SITHIE e ITFH FIW
@) ToFAEde o9 oo 9 HE Sl

The state government introduced the ‘Krushi Sanjivani Scheme’ in the year 2010 to help
Indian farmers. What is the basic objective of this scheme ?

(1) Research and experimentation in the field of agriculture.

(2) To clear farmers debts

(3) To subsidise insecticides and make them easily available

(4) To minimise the burden of electricity bills on farmers

37. STfaa SR 9 TR TN STt AfatEm 2006 AR 30 S 2010 T TERISA AT
Hoed T Taifas FA=fie< (99 T9F) AT FL0IE 3T 2
(1) Tifem sfe TEfEid (2) g Ffon MifeE
(3) TS () e wnfo TfaUE
Which districts of Maharashtra have granted maximum forest land (forest rights) upto
30t June 2010 to the Scheduled Tribes as per the Scheduled Tribes and other traditional
forest dwellers Act 2006 ?
(1) Gondia and Gadchiroli (2} Chandrapur and Gondia
(3) Gadchiroli (4) Bhandara and Gadchiroli
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38.

18 A
PRt WL e e Hen wote TRee fewim FIY e e
(a) e g (b) e ufgw
(c) el SHEEYMT (d) W FwF fa=m
WHBUH T TAT T=ET 2R ?
(1) (b), () ¥ (d) (2)  (b) = (<)
(3) (b) 3T (d) (4) ud TSR M.

In Lakshmibai National Institute of Physical Education, following P.G.Diploma courses
are conducted :

(a) Information Technology (b} Sports Coaching

(c) Sports Management (d) Sports Journalism

Which of the following options is correct ?

(1} (b), {c) and (d) (2) (b) and ()

(3) (b) and (d} (4) All are correct
39. VIO faRnene T WA WRAIS T Tl FA AR,

(1) ¥R (2) SWYW 3 F= (4) HETRN

state has achieved lowest school dropout rate in India.

(1) Maharashtra  (2) Uttar Pradesh (3) Kerala {4) Madhya Pradesh
40, THIfOTR FSIHE FAAT 0 F 6 FARRIG AGH 9 TR TRIA STIETSA HIo S

Qe ST ?

(a) yd-mgfae fagm

(b) TF MR, SR IO T ITIR

(¢) VR A Siud et

() oiuag fe

Tt wom faum,/faum stew sRd ?

() WX () @AME) @) @) FA) @) @)
What is provided under the Integrated child development scheme to the 0 to 6 years
children and pregnant women by Anganwadis 7

(a) pre-primary education.

(b) nutritious diet, health check-up and treatment.

(c) provide medicines to pregnant women.

{d) Eradication of superstition

Which of the above staternents is/are correct ?
(1) All are correct {2) (a) and (b} (3) (a) (b)and (¢) (4) (b)and (¢}

HAT HIATHIS AN /SPACE FOR ROUGH WORK



A 19 Uuo2
41. THO FHRETIIH! FIO FFeT I RIS FFeTHi= Tewte g ?
(1) Fofaga (2) TEN (3) AT (4)
Which concept of the following is not consistent with the forms of Primitive religions ?
(1} Totemism {2) Fetishism (3) Zoroastrianism (4) Animism
42. GTHTH! HIE FET TG [FHH Q50 Wieor oiew, Frefen, srafas fasorsn gam ged
ST FH FW ?
(1) ¥RE TFawA Qi (2) WRT IR 9fiug
(3) W [AEEA 1Y (4) TS WO T TEn
Which is the Government agency working for regulating the training policies and
programmes, standardization of professional education in the field of rehabilitation of
persons with disabilities ?
(1) Rehabilitation Committee of India (2) Rehabilitation Council of India
(3) Rehabilitation Consortium of India (4) National Institute of Social Defence
43, WOOTH Hd f9aH ' TeeEs faew T’ 9 uEa e ?
(a) TE anfr = @ frfew (b) WEbF I e fieso
(c) TToges THI HH HI0 (d) Ml A
T W
(1) % (b) (2) (a) ST (b)
(3 wiwwd (4) W (d)
Which of these is not part of the Millennium Development Goal ?
(a) Eradicate poverty and hunger (b) Achieve Universal Higher Education
{c) Reduce child mortality (d) Improve maternal health
Answer Options :
(1) Only (v) {2) Both (a) and (b)
(3) All above (4) Only (d)
44, 49 99 IR TR Fwa 9Tolt G 9K ?
(1) T T 60 B wroit (2) U T 600 T T
(3) U AWM 1200 ¥R WO (4) TEH TG 6000 B Wil
How much water does a dripping tap waste ? : S
{1) 60 litres of water in a year (2) 600 litres of water in a year

{(3) 1200 litres of water in a year {(4) 6000 litres of water in a year

AT HIGTE ST /SPACE FOR ROUGH WORK
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45, TS ST ST SRR gfafse and TR @eets e e 9990
g ?
(1) YUoYd T T JEm
(2) TEM T ATREE 7@
(3) TSYd TF 9 ArIcEE T
(4) A, ASYR TFF F ANEEE T

Universal Declaration of human rights are reflected in which of the following parts of
Indian Constitution ?
(1) Fundamental rights and Preamble

(2) Preamble and Directive principles
(3) Fundamental rights and Directive principles
(4) Preamble, Fundamental rights and Directive principles
46. IFTEN UF TS
(a) =TI HIEAT U, S W 9 Yo W Uk g, SHEA Vi J2 e 3 e 9
BTN Gl

(b) WIETHREA ¥R W4 G ST HH g S SlehH @A ¥ T6U SUFRTT & 37TE,
() UM UREHT <9 HH TH S S Vg qeald §8 Sl

TS FIOET AR HERA! AR 2
(1) (a) W () 2 (b) 3 ()
(3) (a) 3 (c) (@) =@ FEeE Tty A e

Consider the following cases of population pyramid :

{a) The population pyramid of a country like Kenya where birth and death rates are
high is narrow at the base and rapidly broadens towards the top.

(b) In countries like India where the death rates are decreasing the pyramid is broad in
the younger age groups.

{c) In countries like Japan low birth rates make the pyramid broad at the base.

Which picturization is incorrect ?

(1) (2) and () ) (b) and (9

(3) (@) and (c) (4) None of the above

47. fEe YRAR d9 YRYCH @i @ios] RV ARHATE] SHEY TR 2

(1) - STETSE wer (2) foeges e
(3) =T fagor (4) it faao
All India council of Technical Education does not cover which of the following courses ?
(1) Applied Arts (2) Teacher Education
(3) Management Education (4) Engineering Education
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28, 'FHAR TR MRS TISHI0 A ag Ut JEl 9 dig THNS St
TSI FI0T T FA R 2
(1) eEEt A (2) = faso
@) T (4) arE gfaam
What is provided to the Scheduled Castes and Buddhists under the ‘Karmvir Dadasaheb
. Gaikwad empowerment scheme’ ?
(1} Land for agriculture (2) Higher education
(3) Employment (4) Travelling facility

49, THIARIG JaFIE T TISOUH! HIVA IEI¥T FaHa 3R ?

(a) TAIHE TS (b) TR guR

(¢) we-TeA® et (d) SRS T
TSI o T THET I ?

(1) (b) M0 (c) T (2) (a) 3nfVI(d) "

(3) () FH (@) () v

Participation of youth in Community is associated with :

(a) Behaviourial Change (b) Behaviourial Correction
() Behaviourial Well-being (d) Behaviourial Stability
Which of the above is/are correct ?

(1) (b) and (c) only (2) (a) and (d) only

(3)  (d) only (4} (¢} only

50. WU THE WUH $IA™E AR IfHEIAS Tee QOeTHm A
(a) Wt s AeEE
(b) AMTESH Yiefar a Ty feslau
() Tafoe 3few W w0
(d) AT fammme) AreH
WAGIH! HIVET T FAAT 3E 7
O G @) @) QA @) (@), (1) W (@) (4) T
What is the significance of a family as a ptimary group in socialization ?
(&) Means of social control
(b) Mental security and sustaining health
() To achieve specific goals
(d) Contribution in personality development

Which of the following option is correct ?
(1) (b} and (d) (2) (by,{ctand (d) (3) () (b)and {d) (4) All are correct
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51, WA THITAT S+ L& A= A | 7 wrfwefela 101 (To-W-19) «fn' o= wedveliia
T (Ta-H-T) ot v fauareht Fodt s, e sEveiia O Wewla wEietst
v 272 B ?

(1) TIER T FA THSR TR
(2) v SNEee okl 6e HH JHee! T
(3) sTEUdeYel THHET FH sed] o0
(4) S gegRR fuer sTweel T
Under the Janani Suraksha Yojana of the Government of India ; the states are classified
into Low Performing States (L-P-5) and High Performing States (H-P-5). What does the
phrase ‘Low-Performing-States” primarily imply ?
(1) States with low per capita income
(2) States with low population of children of less than six years
(3) States with low rate of institutional deliveries
(4) States with high rate of maternal mortality
52. TITHF A9 YO 12 THHGR JU FA GF GO GohT HIVET T STHAT I ?
(1) wH @ 3) Tz 4) F+
Which of the following Rashis the sun pertains to when Khumbhmela event at Nasik
which comes after every 12 years is held ?
(1) Capricorn (2) Aries (3) Leo (4) Cancer
53. NPEGEL ¥ 3% dfyreardest sl dfmed -

(a) W= Fario fowmam e

(b) wTEEIE o SR wivew o

gt I

(1) T (a) TR AR, (2) 99 (b) TR IR,

(3} (a) M (b) T=IE AR A=A (4) (a) 30T (b) TEE TF AR
Few of the many unique features of NPEGEL are :

(a) Scope for all round development of girls

(b) Vocational and life-skill education

Answer Options :
(1) Only (a) is correct. (2)  Only (b) is correct.
(3) (a) and (b) both are correct. (4} (a) and (b) both are wrong.
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il 3
(1)  (a) 309 (b) 2)  (b) 37 ()
(3) (a) #OT (d) 4) (a) ®HF

Constitutional Article 43 {c} :

(a} Provides right to participate in Management to a labourer.
(b) Right to work in healthy atmosphere.

(c) Equal pay for equal work.

(d) Right to reasonable wages.

Answer Options :

(1)  (a) and (b) (2) (b)and (o)
(3) (a)and (d) (4) (a) only
55. OTR WP W F U9E, TN, e, IREW S, YT 9 difHeTIS, \E 1o W e HH
et 7 ?
1 T § B W FO 7
=M o,
(a) 9T, LT () SHFNABR
by F@ (i) I GERO WS
(¢ UR=M IS ity TS gEeA fawra
(d) iy, Wfaerg (iv) TI @ U 5A faarn

(@) (b)) (o) (d)
() @ ) Gv) (i)
(2) (@ () @) (i)
G @ (v) @) (@
@ O i) Gv) ()
It is said that the poverty has declined in the states like Punjab, Haryana, Kerala, West
Bengal and Andhra, Tamil Nadu.
How have these states accomplished this feat :
Match the following pairs :

{a) Punjab, Haryana (i) High agricultural growth rate

(b) Kerala (i} Land reform measures

{c) West Bengal {iify Human resource development

(d) Andhra, Tamil Nadu (iv) Efficient public distribution of food grains

@ ® ©
O @ @
@ O ) @ @
¢ 0 v @) @
@ 6 @ @ @
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56. AL wfge foT HEmURE "HEvAE a4 7
(1) 1975 (2) 1980 {3) 1985 {4) 1990
From which year International women's day is being observed ?
(1) 1975 () 1980 (3) 1985 4) 1990
57. ‘3= fosmomt wd guEyer 9 @ ge favg A1 9IS H A= i,
(1) 9= (2) &= (3) <=M (4) ST
‘Inclusive Growth of Higher Education” was the broad agenda of Five Year
Plan :
(1) Seventh (2) Eighth {3} Tenth (4) Eleventh
58. 3¢ faemdisteaTafarea, 3= frarr Sumn e, 1 fafire &em 5= < %W Fan & R
TWEHR IS0 = geem TR TR A 3R
(1) = faemis (2) =4 G faeds
(3) g faemds @) T fawmdie

An Institution of Higher Education other than universities working at a very high standard
in specific area of study, can be declared by the Central Government on the advice of the
UGC as an Institution

(1) Central University (2) State Private University
(3) Deemed University {4) State University
59, WO YRR aiadiel SeeAl SBIvET A8 ?
1) TR (2) YUA.UAEELTE.
(3) FUE3.U . 4) U1
Which is the largest UN organization in India ?
() FAO. (2) UNAILDS. (3) UNESCO. {4) UNICEF
60. dita e oW 9’ FEET (TEQIP) I™ et Rfem.
(1) Sfa® d% 2y IEE (3) PR 4) T
Technical Education Quality Improvement Programme (TEQIP) is funded by _
(1) World Bank {2) UNICEF (3) UNESCO (4) WTO
61. 30 M T IO W WD AT A 3G AfoiE SmiTw Sgeme 3§ e

T1E0] 20 YR SIUARR T T FIAR A R,

T U EIT F0A] SIS e siawrsiia et 9en & ?

(1 el ) HE 3) TS (4) STE=

The Indira Gandhi Rashtriya Uddan Academy has been set up at Fursatganj Raebaraeli
to bring about a quantum improvement in the standards of flying and ground training of
commercial pilots.

IGRUA is managed by the Global Aviation giant from :
{1) Canada (2) USA {3) UK {4} Japan

FHoT HIATETSN ST /SPACE FOR ROUGH WORK
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62. YFEE =01 T ANaH IRt SIeqcs Gaiq HgwaTdt qi4 S0t Rt ?

(1) FRARE, AR, TSE ) —gEifa, SR, wefa

(3) iR, ugw, waf (4) afiran, =i, SR

According to UNICEF, the three leading causes of child deaths globally remain :
(1) Kwashiorkar, diarthoea, AIDS (2) Pneumonia, diarrhoea, malaria
(3) Diarrhoea, AIDS, malaria {4) Diarrhoea, pneumonia, kwashiorkar

63. A 2008 UsTt T g ____ Ao Y TS SATY(Ad A, e SEEe
FIRERIS 143 18 T8 FArEHIe StewHl \reafas famoardis yewe Tt o faved: 91
T VIII A3 ISl e TRT @ foreror Srevard o= whe FH I a9 18 9 warad= @i
e fagomd femaa 390 71 AR,

(1 Tge meafas faeor afam (2) TS ITdTE
(3) Tereirrerean fasmon wrbFA (4) T FvRE T

To promote enrolment of girl child from S.C. and 5.T. communities in the age group of

14 - 18 years at secondary stage, especially those who passed class VIII and to encourage

the secondary education of such girls, to reduce their drop out rate and to retain them in

the section upto the age of 18 years with this objective of centrally sponsered scheme
was launched in May 2008.

(1) Rashtriya Madhyamik Shiksha Abhiyan (2) Girls’ Hostel
(3) Adolescence Education Programme (4) None of these

64. WTEA JOEHA AU RV Y SR IS TE 3(ER v ?
(1) TFG T O JaHi 390 et et Iuesy FE <0,
(2) WPTEFTFAT @6 <0q T IUSH HEA 20,
(3) onfeaTe qev-Tevite faamw wrfes e w8 .
(4) TIEN SR (A= Y8 TERr AE O 9 F% 39,

What is the basic objective of the government sponsored Yashawantrao Chavan Free Stay
Scheme (Mukta Vasahat Yojana) ?

(1) To provide opportunities of higher education to working youth

(2) To provide housing at reasonable rates to members of backward classes

(3) To arrange community weddings for tribal youth

(4) To incorporate nomadic tribes in the main stream by providing them stability
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65.

26 A

T = I e IR Wl e 99, farreen, % o, que v ¥ afgfes o) @
W 1 AESEAR Wesedl AW AHS GES FI0 bt 38 7

(1) fo=esT - @ (2) %9 &S - A

(3) Iud 39T - fwfow FH (4) wRfem - fafifs w5m

Four Championships together make Grand Slam Tennis Tournamment, Wimbledon, French

Open, U.S.Open and Australian Open ! The surface on which these tournaments are
played are given below. Which among them is incorrect ?

(1} Wimbledon - Grass. (2) French Open - Clay
(3) US. Open - Acrylic Hard (4) Australian - Natural Hard
66. UL T de g TieA Feqer FETTEE T Fa.
(1) JH. o Team 2) wIEE T
(3) WUATEAR 3 qwy/dEes (1) TEARE. 9 65 wekd
The National Institute of Technology Council works directly under the control of
(1) Chairrr;an of UGC (2} President of India
(3) Director of CSSR (4) Minister of HRD
67. TS FLAM ITTEAM HIE HF TEAT THSA 5T qRIae a2
(@) fEs 7S (b) WAHHR T
(c) forrdiga =k (d) STEEIRE T
TSt FivE faum/faum ST o TRe ?
(1) (a) 30 (d) Fo 2) (<) w=
@) (b) T (4)  (a) (b) S (d) =
The child is judged and treated in the family largely in terms of :
(a) Universalisitc standards (b) General Standards
(c) Particularistic standards (d) Informal Standards
Which of the statements given above is/are correct ?
(1)  (a) and {(d) only (2} {(c) only
(3) (b)only 4) (a), (b) and (d) only
68. HEF ATHH U] TFHE HBR U SR Wi’ FISE 1975 €Sk SIvi & 1 2
(1) TERIS YEA ' (2) vifem gl afiEm
(3) T Y9 (¢) Far == g

Who started the ‘Kashtachi Bhakar’ Scheme in 1975 to provide wholesome food at
affordable prices to the toiling masses ?

(1} Govt. of Maharashtra (2) Shoshit Mukti Abhiyaan

{3) Hamal Panchayat (4) Nivara Hakka Parishad

HoEN HWMEIE ART /SPACE FOR ROUGH WORK

B e e R I L T T . e T e S S WL SR A S e



A 27 uo2

69. Y U FOTSAT NfFT W A1 TR
(@ ¥t (@) W (@ ofaw  (d) forl (e) it
Tt I
(1) (a) ¥ (b) 2) (a), (b) 310N ()
(3) (a), (b), (c) om0 (d) (4 TR
The official languages used in the UN are :
{a} English - (b) French {¢) Arabic {d) Chinese {e) Portuguese
Answer Options : '

(1) (a) and (b) (2} (a). (b) and (c)
(3) (a), (b), (c) and (d) (4)  All the mentioned
70. FIINGA HAWET TNt Woed HOAEG! g Ferqar=al 1@ @ wued
T FRA,
(1) IS I AR ) T 9w
(3) TS AT E ThE (4) 9% FEWHE AF YAy
During the second world war organization was established to organize the

workers on international level.
(1) International Labour Organization (2) Workers World Forum
(3) World Union of Workers (4) World Federation of Unions

71, 2011 =81 TPATHR TERITE1 TR <X 81 SO0 U 8T 1 2lg i JaRa=a st

(1) fed (2 T (@) =g (4)
Maharashtra’s literacy rate is higher than the national average and is highest
among the states in the country as per census 2011.

(1} Second (2) Third (3) Fourth (4) Fifth

72. A faemd TeusEEh AGarie STaEM GURTrET ST DisH Tafae ke, et
HIore] AT i i 7 ?

(a) TR Tam @& A5 (b) TE H A
(c)  TIOT FAIEA WY Ao (d) TENET A
(1) (a), (b) 300 () 2) (), (c) 30 ()

() (@), (o) 3 (d) @) (a), (b) ST (d)

Tribal Development Corporation has introduced several schemes in order to improve the
life style of tribals. Which schemes are covered under this programme ?

(a) Ekadhikar Gawat Kharedi Yojana (b) Khawati Karja Yojana

(c) Gaun Vanotpadan Kharedi Yojana (d) Sadbhavana Yojana

(1) (a), (b} and () (2) (b, () and (d)

@) (@ () and (d) (4) (a). (b) and (d)
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73. % WUR 31 HoHe o .
(1) HioHe ITSTHS FE
(2) T URH FH T TooF qAeHe
(3) = URuE WA 5 e
(4) T I TR TRT W 37 HSme
The Fellow Programme in Management is a
(1) Management Development Course
(2) Advanced Master's Course in Public Management
(3) Post Graduate Programme in Management
)

{(4) Full time Doctoral Level Programme in Management

74, 9RA AN SAIFHT SRk @] TSam S0 S9N 96 ; R ;
(a) TRSYTT® FISTUIRE 3-FT&0]
(b)  FUNUI YiAEHIRLT -

(¢} HE F FO

(d) YOI-Be SqEuTaTET A-F

Fhetst H fau, faum atet oRa ?

(1) (a) @fer (b) (2} (@) B
(3) (a), (b) ¥ () (4)  (d) B

Millions of children die and get disabled every year in India due to :
(a) No prevention against diseases

(b) No prevention against malnutrition

(¢) No immunisation

(d} No prevention against foeticide

Which of the statements given above is/are correct ?

(1) (a) and (b) only (2) (a) only

(3)  (a), (b) and (c) only (4) (d)only

FHoAT HIEIRT SO /SPACE FOR ROUGH WORK
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75. HNE T FHAN (SRMS) TTEET= FEUsR A4l FF 330 39 2
(1) YA oo FHARI I A=EE TG AIIEe] dHa Ja.
(2) WIS TSl FHAM S ASTEE! ST OGS Aohd [ITAT
(3) eSS W T FHAR M0 ol JASqA T [T
(4) HYAS T3 HHA SV AR FTOIT AATIIH] WS A% 37 §ia
What is the objective of Self Employment Scheme for Rehabilitation of Manual Scavengers’
(SRMS) ?
(1) Medical care for Manual Scavengers and their dependants
(2}  Free Housing for Manual Scavengers and their dependants
(3) Rehabilitate remaining Manual Scavengers and their dependants
(4) Provision for free food for Manual Scavengers and their dependants
76. Jufits o FaRemst SaEEd @ 8 MEARTG F 0 s sl 2
(1 () I
(3) (@) T fawra
Responsibility of natural disaster management was earlier held by department
of the Central Government.
(1) Agriculture (2} Human Resources
(3) Home (4) Rural Development
77. {(a) T® urm sifgm fefa 2022 WewEs AT YRS 96 WE Heed s sfee

3.
(b) AR A WHT GG Wi § ITOETedd e Yawn e v .
(€) T A YaTE ST FIURA FRAEM e UM (SR SR A4,
Fl@is! R fau g o ?

1) =helEr wd ww ama 2) (a) ST (b) T AR

(@) () I ()T AR (4) Tet= THE A

{a) Nirmal Bharat Abhiyaan aims to provide sanitation for all rural household by 2022

(b) The scheme covers construction of toilets in schools and Anganwadis in rural areas.

(c) Nirmal Gram Puraskars are given only to sarpanch for effective implementation of
the scheme. '

Which of the statements are true ?

(1) All are correct (2) (a) and (b) are correct

(3) {a) and {c) are correct (4) None of the above
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78. wreite foe faummsn smaR yeEER e
(@) TR FRHATHIAT er-oreqg a8 wfirr wifee ) S
(b} SCYHEAHE SAEETaS e a v fawm.
i)
HK
G| W (i) | T (i)
(1) @HTE @) (i) T 2y (U (i) T (i) 3
3) O @)W @) = (4) T FIRE
Solve the following cross word with the help of given statements :
(a) Preparation of teaching, learning and training material for Adult Education
Programme.
(b} Vocational Education and Skill Development of Minorities,
(&)
R
N | M| @) M| 3i)
(1) @S (@) C (ii)E. 2y @M. (i)S. (i) L
B3 @OT @N. (i) C {4} None of these
79. MRS WO FEe TEIG: SR Gafaw o ?

(a) Wi feam 31 (b) Hordt FTERE T

(¢) WM™ FHS qH (d) T TAIR=A $HE gfey
aliotst VR faam/faae sRiaT 3R ?

1)  (a) 30T (o) FH (2)  (b) A0 (d) B

(3) (@), (b) S (c) B 4) (@), (b), () 3 (d)

What do the Indian Laws pertaining to children mainly deal with ?

{a) Minicnum age of children (b) Medical examination of children

{¢) Maximum hours of work {(d) Prohibiting children from working in the night
Which of the statement given above is/are correct ?

(1) (&) and (¢} only (2) (b) and (d) only

(3) (@), (b) and (¢} only (4)  (a) (), (© and (d)
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80. AWY ST Al
(a) AR STel FoAN WY
(AUCW)
(b) TIR T T Pl T
s o faego fash
(UNICEF)
(c) Y = Hev qieg
(ICCW)

(d)

(1)
(2)
(3)
4)

Match the following :

(2)

(b)

()
{d)

HRAEA T 7 (IYC) W

@
i)

(iv) .

(i)
(M

International Union for
Child Welfare (AUCW)

United Nations” Childrens
Fund/United Nations
International Child Education
Fund (UNICEF)

Indian Council for Child
Welfare (ICCW)

International Year Of the

(b)
(i

(ii)
(iii)
(i)

)
(iv)
(i)
(i)
(iv)

(d)
(ii)
(i)

(iv)
(ii)

Child (IYC) India

{2)
(i)
(iv)
(i)
(i)

{c)
(iv)
(iit)
(i)
(iv)

(d
(i)
{®

(iv)
(i)

31

()

(iv)

(i)

(i)
(i)

vo2

HATe] T SITEATHT avaT=al wediel 9 S
e g9

fed qargea qrer=n

Yidga feadidie Ta=n U A5d w6
AT S 39 HO

T HEAOMEAT d=d! SUArEST fafay Fsr
HeAfa Tee fEar wERR ey 1 fear
HEdel Y H{W

to promote recognition throughout the
world of the principles of declaration of
the rights of child

Reaching the deprived child

to help the children in adversities and to
prepare them for life

to initiate action or aid directly or through
branches or affiliated bodies for
furtherance of child welfare
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81. TR TR ‘&1 <91 FEE HAeW IR, IR M 1fee 90 THNed §3 T 5
g ?
(1) T @ (3) e (4)
Tuvenile Justice Act’ is being implemented in the state of Maharashtra. In accordance
with its provisions where is the first Juvenile court established ?

(1) Ratnagiri {2) Pune (3} Dahanu {4) Nashik
82, Taerdt wwomya fawenfia Srom=n wehi=a1 YeATEE SR B9 TegiAed dg i et o ?

(1) HERE-TsRE - (2) HERTE-iar

(3) BRI -STywRw (4) TRRISZ-FleH

Which two states are in conflicting relationship due to the people getting displaced because
of the construction of tilari reservoir ?

(1) Maharashtra - Gujarat (2) Maharashtra - Goa

{3) Maharashtra - Andra Pradesh  {4) Maharashira - Karnataka

83. W THR WL 3-TRAH SRFHH Sqd 3F AT TE(d 8. GIASIH! HIORT FreT a1
FEHAET WA 7 7
(1) %Wz aEs I T
Q) HF ofEw ¥
(3) WO HHA
(4) 3-FRIAYNA BN 3 FRIThYA
The Indian Government has initiated several schemes under the National E-governance
plan. Which scheme of the following is not a part of this programme ?
(1) State Wide Area Network
2} Common Service Centre

(
{3) State Data Centre
(4) E - Information Technology and Communication

84. = Tl Qo fafay fari=n mRa e Fivevsd =1e qrigeH ¥y 3d ?

(a) ITh | (b) MHR &

(c) At Fen (d) whrEaem Q@
iy

1) (a) w1 (2)  (b) &f (d) FHR
3) (b))% @) (@) I () B

Child welfare services are variously categorised. Which amongst these include Child
Guidance clinics ?

{a) Supplementary Services , (b) Supportive Services
{c) Substitute Services (d) Preventive Services
Options :

{1) (a) only 2)  (b) and {d) only

(3) (b) only 4) (a) and (c) only

Hoel HIAEE A /SPACE FOR ROUGH WORK
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85. Tigolats SNTF TR FHS FSF FOAENG THod RTd ad Affde &aea
ToetH Hvm TERY sae .

(1) IoREFel R e I0arE] T aEg T,

(2) & a1 w=d TR g et wew e s,

(3) TOREFAN THMHE T a1 To8 ani S HL0arE! aqe 14w,

(4) TOEHENA TEANE! TN Wed STHeR / el T=1 ey Sefavard 210 3@,

Which of the following recommendations were not a part of report of Justice Verma

Committee appointed for making stringent provisions for sexual atrocities against

women ?

{1) A special provision to impose death penality upon the rapist.

{2) Stalking should be made an independent offence and stringent punishment should
be provided for the same.

(3) There should not be any provision for castrification of rapist by chemical means or
otherwise,

(4) Elected representative should be disqualified from contesting the election if they are
punished for the crime of rape. :

86. 1994 WE WA, AT fael SERTE FenE! YA TR FOAH WS ?
(1) wfsiaie B s (2) TR TRAR =Tt
(3) TEFA Yo vl (4) TR Tivgo!
In 1994 for what the International Legal Commission was asked to prepare constitution
by the General Assembly ?
(1) Injustice on women (2) International court for criminals/crime
(3) Exploitation of Children (4) Exploitation of workers

87. WHEII® SaTde Shredl el T ?

NCERT A Y& THd A9 :

A i + . z
T34 3., IR AAZ,, .33, ot ug.vE. . s fe d
1 & 2 4 3 = 4 T

Spot the odd man out :
The major Constituent Units of the NCERT are :

A B C D
NIE, RIE, NCTE, PSSCIVE
1) A 2 B 3) C 4 D

ol HIHTEE AAN /SPACE FOR ROUGH WORK
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88, HRRIE SIEA he TG T Wil STTHT) I Hiee ST 216 TR, oo
HIUTe T To TS SATART=AT ST Wl 378 2
(a) & UF Wud W I
(b) ITE TRATYAI 2001 AL .
(c) Torarem fafay v s F&7 Aiewawas GR0 AGvaY TEYIHTE #450 &0 8
HETS F1d 3.
(d) difeq fom damEmfaes T JvamE Ty #1098 R F1d 1R,
LIRS L
(1} (), @ &) 2) @), M@ @) (@ © T (D @) (@), b
The Maharashira Government has established the Maharashtra Womens ‘Commission in

line with the National Womens” ‘Commission designed by the Central Government. Which

of the following conditions are true about the State Commission ?

(a) It is an autonomous body.

(b) It was established in 2001.

{c) Ithasbeen entrusted with the task of reviewing the various problems faced by women
in order to assist the state government to design the policy for women.

(d) 1It's function is to guide victimised women to fight against injustice.

Answer Options :

(1) @), (c)and (d) ) (b), ©Qand{d) (3} (@) (b)and(d) (4) (a) (b)and (c)
89, ‘el 9 AT $TH R0 AT Fe 7

(1) 31y 92w () sfFars (3) afHeTg (4) e

Name the state in which the Mid-day Meal scheme originated :

{1) Andhra Pradesh (2) Chhattisgarh  (3) Tamil Nadu (4) Odisha
90. Ml Y T IS SiifeR STHTET e, qraonaT Wi HE.

{I) 1,000 (2) 10,000 (3) 1,800,000 4y 10,00,000

Maternal Mortality Ratio is defined as the number of Maternal deaths per

live births.

1) 1,000 (2) 10,000 3) 1,00,000 (4y 10,00,000

91. T gah HIIE 2006 = FATTAAUT TS WH{EF TOHIGH IIEETIU FHIOT 6T T4 Fi 2
1y T fagt (2) e o
(3) TSI HgF 4) Twve=

Name the village which pioneered implementation of Forests Rights Act of 2006 through
community ownership ?

(1) Ralegan Siddhi : (2} Mendha lekha
(3) Aadgaon Budruk {4) Kinvat

HEeAT HMES ST /SPACE FOR ROUGH WORK
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92. T FQ 999 g& R ?
(1) Trfrea TaTe f6e amad
(2) fxIHeR T8 TR
(3) ST IS T TG OFES SR
(4) WA M ywEd wqeT faawefagin it T 9 FerEE a4t

Which amongst the following statements is not correct ?

(1) Pisciculture is rearing of silk wormns.
(2) Viticulture is cultivation of grapes.
(3} Jhumming is the shifting cultivation of the North-East.

(4} Smelting is the process in which metals are extracted from their ores by heating
beyond the melting point.

93, %ﬁunﬁmm,w?iwwmhﬂaaﬁmﬁﬁﬁanﬁﬂmwzuamw
FRUTHes T Har A ?
(a) Tl i<t <A U Tuea™ SN0 Wi FI9 enfefergsean Suor gorh S guad
T TOE.
(b) SHUIR H@ WRIRE/Amfas a1 fovr gae Sevard) e STaeard
(c) Fea-FENRT WA o SN
(d) Tuiguges St Wi /ARt STRvaER TR IRemET Rt S
TGS A T e
O @ EITE) (2 b)) (B () )T @) (@) ()T ()

According to the Medical Termination of Pregnancy Act, 1971 a woman above 18 years is
allowed to terminate her pregnancy within the first twenty weeks for following reasons.

{a) A woman already has two children and her family members are financially incapable
of looking after the new born baby.

(b) There is a possibility of the baby being born as severely weak physically/
psychologically.

{(c) The pregnancy is the result of failed contraception

(d) There is a possibility of the pregnancy negatively impacting mother’s physical/
psychological health.

Select the correct option given below :
(1) (@ (p)and(d) (2) (b) (Qand(d) (3) f(a) (Jand(d) ) (@) (b)and()

FoedT SIS AT /SPACE FOR ROUGH WORK
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94, T MfTEioa TR0 SHIRAT STHIHS wgT o ?
(@) SR 29 ARRE
(b) TRVEST Ao HusHTEEE AT
(c) Thewa anfor Huwi

(d) ¥ 3nfor TRoiHH
Fot®! How T417 EURL 31T ?
(1) (a) 30 (b) (2) (o). (c) 3u(0T (d) (3) H (b) (4) oW

Which of the following factors are responsible for social mobility ?

(a) Industrialization and urbanization

{b) Development of transportation and mass media

{¢) Income and wealth

(d) Power and standard of living

Which of the above options is/are correct 7

(1) (a) and (b} (2) (), (cand(d) (3) Only (b) (4) All are correct

95, TN VIHATH S463 AMiskiarad feqier 1.10.2013 Jsit SMER Foed ToH SR &1 WL
e ?
(a) WS Ty Sl s A feaur sifae wgA Fe 1,
(b) S TS AT AR-Al AT WiWB HIOR G ist 19 TR FSH A,
() ToU AEA SIS AR GUISYH F g6 S,
(d) ITEHE GEOHE T JHAH GG F.
(e) TS TMEHI=A TEFRI ¢ e e st weied Jvan iw.
(H FE TER 65 FUFASA 73 TS A,
(g) TR WMEA 60 IHia{e AN ST TEUM.
B O @® 2) (e} (D) () 3Gy (@ (4)  (d) 3T (e)
What is not true about the new resolve of the Maharashtra Govt. made on 1.10.2013
regarding senior citizens ?
{a} The announcement was made on the occasion of the World Senior Citizens Day !
(b} The names of the children who do not look after their parents would be made public.
{¢) The state will start counselling centres for elderly people.

(d) The state would also set-up old age homes along with NGOs.

(&) Cooperative Housing Societies of the senior citizens shall be awarded additional
FSIL.

(f)  Central Govt. regards those above 65 as senior citizens.
(g) Maharashtra Govt. treats those above 60 as senior citizens.

& ® (@) @ (e @) (2 Gy (a) {4) (d) and (e)

Foedl HTHHIEST WA /SPACE FOR ROUGH WORK
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37 uO2

TRfve fiar @i swunisre frafor Soar et FIOR FRO S 2

(1)  vRSTE SHEE A (2) TS UHEAIS =
(3) favmTe SreEn ATTESTON (4) weue e wEe
The causative factor for Regional Disharmony is :

(1} Unequal development of the regions. (2) Threat to national integrity.
(3) Backwardness of people in the region. (4) Illiteracy predominant in the region.

97.

anfeies Tl 2012-13 = Heuld @ETtH SR faym/faam atew s/ e ?

(a) VR fogi= STRET TEuaT SRE 3R,

(b) wfirEsTIEden TENEMS Sy g [ IR AR,

(c) BTN TR Fe T Fl e,

iRt W

1) (@, ®) () (2) (@) (b) (3) (b =ufor () (4) () S (a)
With reference to the Economic Survey 2012-13 state which statements is/are true ?
(a) Life expectancy is more in females than in males in Maharashtra.

(b) Infant Mortality Rate is more in Maharashtra than in Tamil Nadu

() Death Rate in Maharashtra less is than in Tamil Nadu
Answer Options :

(1) @ dand (] (2) (3 and(b) (3 (b and (c) (4) (c)and (a)

98.

S | O 3T SNAREHAHE U TH 9 AN et € w fadhy woem qusedt st orett g

Td wem A= ARG F0GE SToet gl
(1) TS Y wi (2) & fga Wi
() S () o T At (4) & Yo gt

The need of undifferentiated curricula for both boys and girls and necessity to treat
education for girls as a special problem was suggested first in the Report of

(1) Durgabai Deshmukh Committee (2) Hansa Mehta Committee
(3) Dr. (smt) Phulrenu Guha Committee (4) Raksha Saran Comimittee

99.

Y AT TERCE Fide! W9 IR Aersersl MEM (ST Bus) TN FI0AEET yardt
wIgad ot oo weed fed s ?

(1) 50% (2) 25% (3) 75% (4) 60%

How much percent discount in travelling is given to disabled persons while travelling in
MSRTC (ST Bus) ?

(1) 50% 2) 25% (3) 75% 4) 60%

FHoAT TS IR /SPACE FOR ROUGH WORK
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100. GSISUHT HIVAN I - SBIHET T ATTA! VIHT & YT Bl 2
(1) Tawe do WAt (2) TwEm '
(3) TAfdE ol T (4) ONE TR o5 BT ST (TRa)
Which one of the following is a genetic disorder inherited by the patient from the
parents ?
(1) Sickle cell anaemia {2) Heart disease
- (3) Kidney Failure {4} Iron deficiency anaemia
101, I 0 it faw e Usa SrEfwH e foee sfEie! wivr SR seamid
e 7

(a) TEUTE WO faphrEmEE) Wt y=E W=,

(b) TH THEHGIT W IW

() wifRay gfear gg F.

(d) Teoem faema eaEewih wifedt wieR fiv swvaraiEi geied, yeRE 2791 SHe 3.
I W

(1) K (a), (b) ST () (2) WH (b), (c) AW (d)

(3) (@) © @ (4) o w

Which of the objectives given below are part of the short term objectives of the National
Programme for Youth and Adolescent Development Scheme ?

(a) Provide opportunity for holistic development of youth.

(b) Promote national integration

{c) Strengthen their secular outlook

(d) Encourage research and publication to develop data base on issues concerning youth.
Answer Options :

(1) Only (a), (b) and (0 @) Only (b), (¢) and ()
(3) (a), () (d) (4) All the above

102, I 77 ferE
Toig Y iy s

(a) HHE BTN TR

(b) W " e faeneataTet

(c) TRURIS THFie, TS aeiyamms!

(d) STTHfod Sl o SHdite fereareEt s, oo dl swneasEe

(1) (a) S0CF (b) 2) (d)wR (3) (a) I () 4) (b)%F
Choose correct option :

Rajiv Gandhi National Fellowship :

{a} Children of Garbage Cleaners.

(b} For all students of backward classes

(¢) For M.Phil, Ph.D.Research abroad.

(d) To students of Scheduled Caste and Scheduled Tribes for M.Phil, Ph.D.Research.
(1) @and®) (@ (donly @) @and{) (4 {b)only

THoeAT HTATHTS, T /SPACE FOR ROUGH WORK




A 39 uo2
- 103. TR I TISFe Yoo Ariayis RaER Stk gigamt aard feam e e o 2
(1) 40 AR (2) 60 BT (3) 65 ;X (4) 50 FX
Under national rural drinking water project guidelines what is the minimum need of
water per capita per day ?
(1) 40 Litres _ (2} 60 Litres (3) 65 Litres (4) 50 Litres
104. .9 5513 U@ wrdmyt 3R Fve) ?
(a) Verforr e fom fawwm w9 FO.
(b) T &y e wicei=n TTewn GeuTTE SRS 0.
(c) Tneromen gsia gurom.
(d) W= QErHiwTOTEGS! AT e T ST FAE S )
FHH HIU T AT R 2
(1) (a) 20fT (b) FAER 371 (2) (b ST (c) TR 2R,
(3)  (c) ST (d) TR 2TEA. (4) =S 9d sUeT AR
What are the objectives of National Programme for Education of Girls at Elementary
Level ?
(a) Reduction of gender gap in education sector
(b) Ensure greater participation of women and girls in the field of education.
{¢) Improve quality of education
(d) Stress upon the relevance and quality of girls education for their empowerment.
Which of the above statements is correct ?
(1) (a) and (b) are correct (2) (b} and {c) are correct
{3) (c) and (d) are correct (4) Above all are correct
105. [EIo TF faumits! siva Framea g o ?

(a) TR & TR TR TAMe S Aoy 94t et 3a1 s diadd el
IR,
(b) T IFE! GAATIIUE e HITA Ao,

ﬂ'ﬂﬁ’f‘ﬁﬁ:
(1) %@ (a) @) %= (b)
(3) A @) UHE TR

Which of the following two statements is patently wrong ?

{a) Unemployment of graduates and postgraduates has increased faster than among
matriculates.

{p) Disguised unemployment is generally found in urban areas.

Answer Options :

(1) Only (3 (2) Only (b)

{3) Both - (4) Neither

HoAl ROETS ST /SPACE FOR ROUGH WORK
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106. TH.9TE.R/TTH TUG TS 1YY T FREGHAN TH1 S ot AU qgue gfared
(Fervre TTefaT e VA fae F6 OR. ¥/ 9= i ?
() sifgay T= 2) g
@) AfHF T=[ 4) VoAl a=H

United Nations Programme on HIV/AIDS has appointed one of the Bachchans as
International Goodwill Ambassador.

Which Bachchan is this ?
(1) Amitabh Bachchan (2) Jaya Bachchan
(3) Abhishek Bachchan (4)  Aishwarya Bachchan

107, ‘wreEd fasm' @1 fomaads g g IEg w9 Refr-2012 99 erdietst $ool o9 TRed
fasTarETE e srfed T weE Wit HvaE e ?

(1) & Ues GUron (2) = o groft wguemER A
(3) =i guem gem (4) =i Feed

In the UN Conference on Sustainable Development also known as Rio 2012 which factor
mentioned below was announced as the most indispensable requirement for sustainable
development ?

(1} Improving literacy level (2) Curbing air and Water pollution

(3} Preserving natural resources (4)  Eradicating Poverty

108, ‘¥ 37w femm ¥= YA’ @ FFIR WS Hiven e waTe e ok
(1) YT T wRE (2) WRIaR FRfTR 98
(3) SUERET Y (4) YRATT S IH
‘Center of Indian Trade Union’ the Labour Organization is related to

(1} Indian National Congress (2) Marxist Communist Party

{3) Socialist Party (4) Bhartiya Janata Party

FHeedT HITHS AT /SPACE FOR ROUGH WORK
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109, S .

(a) R =ffEt () 9 YHRSA ST W A R A g e
UGS wE wA,

(b) wS AiHat (i) DrRie AT ST TR

(©) wireame afad (i) PG qaTe e freuma wfadus 9 Wi

(d) dera aiba (iv) W9 TR dmETa oifer ot Wend
THAFT S T

@ (b} () (d)

W @ @ 0 W

2y @) G) @Gy @

3y G @ (v) ()

@ @) @@ ) @

Match the pairs

(a) Bhor Committee (i) Al types of health services should be made
available at group or block level.

(b) Mukharji Committee (i) Peoples health in peoples hand

() Jungalwala Committee (iii) To include preventive and social medical
science in medical field or education

(d) Shrivastav Committee {iv) Unification of medical and health services

at all levels.

(@ () {0 ()
1) @ @y @ (i)
(2) v) ) {(u) (i)
@y @) @ (v (i)
@ @) @ @G G

110, RO TR IS ARG SpaEs afyres T ?

(a) oS3 IMIHIAHT TgUEA ST WO YT JEw ST,
(b) SIS TIHIIHT 80 FIEA ifir SN =W 918 B IR,
(c) U AMRHIAHT GUR 70% TET WG TR,
T W
(1) % () (2) (a) 3T (b) (3) ®H () 4 {a) ) ©
Which of the following is not a characteristic of senior citizen population ?
(a) Majority of senior citizens are staying in rural areas.
(b) Among senior citizens the number of persons with 80" age is increasing,

() Almost 70% of senior citizens are below poverty line.
Answer Qptions :

(1)  Only (a) (2) (a) and (b} (3)  Only (c) 4) (@, @) (©

ol TIATHTST S /SPACE FOR ROUGH WORK
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111, 'Ie-faam fagead & Haae q IR
(1) g (foamdis sgem amm)
) Ui Ry deteT g g ufitsg
(3) VERIY JAAYT HER
(4) aloYst HORE AL

Gyan - Vigyan Vimuktaye is the motto of

{1) University Grants Commission

(2) National Council of Educational Research and Training
(3) Technical Education Board of Maharashtra
(4) None of these

112. YRARIS A7Efad s fasmEEl aore gaas 9Sia SaR©e Jge Siva 9™

Hafaon ?
(1) i (2) vEdS
(3) UHTHAI (4) WTHHE FTREY

Which one of the following measures was advocated by the then Prime Minister
Pt, Jawaharlal Nehru for the development of the Scheduled Tribes of India ?

(1) Industrialization {2} Urbanization

(3) Integration (4) Administrative intervention

113. wfoam faame wurt :
(1) faar 7 S Siewn faata SsaRE @& W,
(2) R YN A e fwa S
(3) 3= TNk i 1 sddie e foaar 3.
(4) o e [ T R S foae w.

Pratiloma marriage is :

(1) When a couple lives in without getting married to each other

(2) When a man purchases his wife

{(3) Marriage between woman of a higher caste to a man of a lower caste

(4) Marriage between man of a higher caste to a woman of a lower caste

HoAT RN ST /SPACE FOR ROUGH WORK
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114, T ST Hed 57 1978 7 Wofagmre Fafti s1samaa T 209 & & i
FOAW T FI0IE A,
1 HEAETE F @Y T 2
(a) I HER TEOY T 39 3.
(b) W EEE TR A F doIE, T, FHERE S TR AY AR
(€) I HEY X SR TSI G 2 A F el 49 IR
T :
(1} () 2) (b () © (@) 0T T T
The National Institute of Hydrology was established in 1978 for promoting and coordinating
all aspects of Hydrology.
What is not true about the institute ?
{a) The institute has its head quarters at Roorkee.
{b) It has four regional centres at Belgaum, Jammu, Kakinada and Sagar.
{c) Tt has two centres for flood management studies at Guwahati and Patna.
Options :
(1) (@) 2y (b) 3) (<) {4) none of the above

115. (a) NG @ fod T T IFaB (NAM) TR 99EE 3T,
(b) 1955 WA AT AN THeT Sifom TR weadiEl 9 HISvA S
() wfow TR Toaxion Afugd dfaum i wfaarss .

o PN I T 378 ?
1) (a) 3T (b) (2) WH (a)
(3) W (b) (4) TASAF THS THT T

{a) India is one of the founder members of Non Alignment Movement (NAM).
{b) The principles of NAM were laid down in Bandung Conference of 1955.
{c¢) NAM does not have a constitution and secretariat.

Which of the statemients are true ?

(1) (@ and (b) (2) Only (a)

{3) Only (b) {4) None of the above

116, (a) SHMRUSR TOT QT STOW WRAHY- 9e4d ad e,
(b) SR YHfRETAT SfaasT s SHeaEl SR 1 F:1d.
() YIRAW enfife e faaly o,

Tt For foum W e ?
(1) Tot=! w4 T TRT (2) (a) 30N (b) T SR,
(3) T (b) TH AL, (4) T () T TR,

(a) The word "secularism” is not mentioned in the Constitution.
(b) Indian secularism recognises the right of an atheist.

(¢) Religious freedom is unlimited in India

Which of the statements are true ?

(1) All are true (2) (a) and (b) are true
(3) Only (b) is true (4) Only (c) is true

HAT HIAEG T /SPACE FOR ROUGH WORK
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117. o8 Foraigane AUfTamguR Fard! om 12 6= afeae fag @ Sl =18 s
fordt ve W@HT A Ol HIoH! YA H A ?
(1) 100w (2) 20092 (3) 500 19< @ 209
As per the provisions of the Bombay Tenancy Act, a tenant, after establishing continuous
tenancy of 12 years, can become owner by paying an amount equal to how many times
the current rent ?
(1) 100 times (2) 200 times {3) 500 times (4) 20 times
118. TN a1 Ao 3R oo whm 8
(a) Trmeame fHfay gfesn fawfag s
(b) fammeaioed g 3§ SwwRl qRIA faHtaa w0,
() foremeinel T w9 AT gEaR g fawr w0,
(d) w9 BAT Fomeatan =foaa fawm et
THw! wIvEr faums / faym |iet 3R ?
() @ @3 2 @) @) (@) ©)A(d) (4) FTIR M
Following are the objectives of National Service Scheme :
(a) To develop various approaches in the students.
{(b) To develop leadership qualities and democratic attitude in the student.
{c) To develop national integration and social harmony attitude in the students

(d) Develop personality of students through community services.
Which of the above statements is/are correct ?

1) (@), (©and (d) {(2) (c)and (d) (3) (b), {c)and (d}) (4) All are correct
119. FreT SR METaR 2011-12 984 9RAW HaAifys & SR @ S6r ?

(1) wHETE (2) wEe (3) AT 4 far

Which was the poorest state in India as per the Planning Commission in the year

201112 ?

(1) Chhatisgarh {2} Jharkhand {3) Manipur (4) Bihar
120. TEATE UMHIOT ISR Bt TR BIoRn F Fa vee G0 o1y ?

(a) oSS FES (b) SIEEYRI

(c) S (d) Safewrs o= A

TR W ;

(1) @ B3 (2) W (b)

(3) FH () (4) d) ()

Which tasks does the Maharashtra Rural Employment Guarantee Scheme gives preference

to ?

(a)  Fruit tree cultivation (b) Water conservation

(c) Afforestation {d) Personal Beneficiary Schemes

Answer Options :

{1) (@), (b) and (c) (2)  Only (b)

(3) Only (c) (4) (b) () and (d)
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121. (a) UYEF @ A9 AMER FEAS (AFSPA) B WRARTS TR gaedsh fargn o
(b) T FER GFRE T I IR,
(c) ¥ FHEG HWd WG T, AISS, AGET FISAT T A= Hl.
THETH FITA T 3R 7
(1) ()3 (b) (2) WK () @ @b @ @3
{a) Armed Forces (Special Powers} Act deals with problem of separation in India
{(b) The act is in operation in Sikkim
(c) The act does not allow deployment of Army, Navy and Airforce in disturbed Area
Which of the above are true ?
® @and(® (2 Only () (3) (@*(b)and () (4) (a) and ()
122. Wi F90 T [BER SAede YRaW vfgel frfe faee =vp s fSeener am fuzmer ?
1) W (2) W@ (@) we (4) wE@
Which district in India received the first clean district award due to the efforts of Women
Self Help Groups ?
(1) Solapur (2) Kolhapur (3) Sangali (4) Satara
123. ESI T 1948 9 T famn wgwiees, Hivrea wAon siaia ad ?
(1) WEMo, aesIE weR Far it t=e 990,
(2) TIFIR o TSR T,
(3) =nfo snftr =M Harea
(4) WIS AT 9 WALl WA, .
Employees * State Insurance Cooperation under ESI Act 1948 is an autonomous body
under which Ministry ?
(1) Ministry of Personnel, Public Grievances and Pensions
(2) Ministry of Labour and Employment
(3) Ministry of Commerce and Industry
(4) Ministry of Social Justice and Empowerment
124. WIS R FTHHATA IS (R g g&A A SORMET 2011 TR =i SRd 60 + =1

BrFHEe Toue Ulee Haiw fKeam ey T4 S0l HHiHER THS 7

(1 2=a (2) 3= (3) 4wm (4)y S5

If 60 + aged population is taken as a reference point and if the state with the highest
60 + population of the census 2011 is given the first rank ; where would Maharashtra

stand ?
(1) ond (2) 3ed (3) 4th (4) sth
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125. Q€I 3 faymrn fo=m +a.

(a) f&AF FTqE fhma SR foadioan SEeTyRoey HH ST,
(b) T fFma e e S s

SR 1T T
(1) (@) TR (b) T (2)  (b) SR TG (a) T
(3) T (@) T (b) TR @) TEE aE TE

Consider the following two statements.

(a) The Minimum Support Price is usually lower than the Market Price.
(b) Issue Price is lower than the Market Price.

Now state whether :

(1) (a) is right but (b) is not {2) {(b) is right but (a) is not

(3) both {a) and (b) are right (4) Neither (a) nor {b) is right

126,

(a) TER TEAT YL TSR AU Oiaa F el T Saeer 3R,
(b) TEeN TR FEATEEI IR UL TR,

() TRET YR STeumt TE&wa <o U 3T,

(d) FETEET TLMAT THNIUHR .

FOGIH! HvH (9™ T TR ?

(1) @) (2 @A (@ @) ToH {4) T (a)

fa} The United Nations Security Council is given the responsibility to maintain
international peace and security.

{b) There are four permanent member states in Security Council.
(¢) There are ten non-permanent member states in the council.
(d} The permanent members have veto power.

Which of the statements are true ?

(1) {(a) and {b) (2) (@), (c)and (d) (3) Al are true (4} Only (a)
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127, THY 90 IARAE I Fog FH0 17% 3Hors si5fw 80% W Ao Fdw 3% e siifeors 9
3] TREHIIE SIAia U WU el Srossrdl 3Temd fae! ayaar arawar Siet o ?
(1) 9 FAR 80% &IFa1 A ATH TR,
(2) FI3 AR 60% W I ATS 3.
(3) &9® AR 40% A FT9E AT IR,
(4) FTS FAR 20% S A IS IR

Hydel power accounts for 17% of the total power generation ; thermal power accounts
for 80% and nuclear power only about 3%.

Despite the inherent advantages and superiority of hydropower plants over thermal and
nuclear plants how much of hydropotential has been used so for :

(1) Only about 80% of its potential has so far been tapped.
(2) Only about 60% of its potential has so far been tapped.
(3) Only about 40% of its potential has so far been tapped.
(4) Only about 20% of its potential has so far been tapped.

128, TEF T TR TINE WIS R9ha A1 Ao e =it e,
(1) T FaERRe i HTETT Harae
(2) wifed= qean o wreriEEt
(3) WiEd™ a7 FH=4 TR
(4) FET IS T HOFR
National Knowledge Commission recommended scheme of special purpose vehicle to :
{1} manage day-to-day working knowledge
(2) secure data and its privacy

{3) establish store house of information
(4) set-up central library

129. AT UMY O AR EEeAaTa ‘ omen’ @ Taheudl WeietE] SR TR 7
(1) T T o TmErm g
(2) enfrw deawa ofuaga ArmmTe A Ag Fefwd oE Y <6
(3) S S S-TvEE 4
(4 "R foraE! diea wites g ot staraai=n e
Under our National Rural Health Mission ; what does the concept of ASHA stand for ?
(1) Equipped infrastructure for safe delivery
(2) Training local residents as Accredited Social Health Activists

(3) Pre and Post Natal Services
(4} Tree tablets of folic acids and others to women
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130. e S -
T - 3

(a) ST UEHT FUROT (i)
(b) Tom, wive arfon ST fawai=n fagomee fasiomsr (i)
(c) HUrERIMIE srvaa gfawn (iii)
(d) Temenfi fafay v, T eame s o 9 (iv)

Tezra, fFoR fFmtt dem, 908,91, 9 Ao

TR THATH0 TIETO0 3790 SYHHI ARG

I HEA 0L

@ b © (d
n v @) ) 0
@) () () (v)
) @ W 0 W
@ O © ®

Match the foliowing :
Group - A
Promotion of quality in Technical (i)
Education
Focus on Science, Maths and English (ii)
education
(i)
(iv)

(@)
(b)

(¢} Computer Aided Learning Facilities

(d) Provide resources for addressing gender
related issues and also provide a platform for
mobilization of strategies like Maa-Beti Melava,
Kishore Kishori Melava, SMC Members and
Community mobilizer’s Training.

@ () (o) (4
() @) () @)
@) () () () (v)
(3 @ vy @O O
@ O & &) @

(D)

" -9
.. 3. 5713, Ta. -5 TR
T LT

AR TH.UAT,

i o st i

57150 =,

Group - B
NPEGEL - GRC.

Quality - M.P.S.P.

R.M.SA.
ALCT.E.

K.GB.V.

131, WRERHIEIYE H@ Weee e 3 SR
(1) AR JrieR)
(3) foaomde s

2)

(4) o arieR

= aNafl| R,
S YFiERT

The project Shiksha Programme of Microsoft Corporation is based on

(2)
4)

1)
3)

Partners in Learning
Partners in Education

Partners in Studying
Partners in working
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132, R F14 P LT A WA N0 o FaenerhEa g anan femr oo ofed
I Wferd 337 THA F0 % &K, € B 378 1 TGS Aifgl JAAER FHE S
sreforraree, yeHd fsyur, SMgsa 4g MEUATTEt | SHaTU gt weA Huw et e
IGGI FO. T FET AR T394 ?

(1) e gOoaed, WERRY T (2)  STELHRLE.
(3) TIEH.AE (4) ATIHY HIviE T

My mission is to integrate in a self - sustainable manner IT education and IT enabled
education with the basic teaching learning process and its management. The goal is to
prepare the graduates for the knowledge - based economy, champion the cause of life
long learning and stimulate the creation of world class resources through information
technology. Whose role I play ?

(1)  Directorate of Technical Education, Maharashtra State

(2) LLT.

(3) AILCTE.

(4) None of these

133. P Roew ymiis sk fGam sifasfad ey 36 R ?
(1) = R SR IO FH AT
(2) < wigge Ffifdten g S s
(3) =N IR ST GYFHE ufiis awE-wude SR e .
(4) TEHS YA ST 7 AR TR A6 TAH,

Which of the statements given below is incorrect with reference to the underdeveloped
countries ?

(1) Their per capita income is low.

(2)  Their rate of capital formation is low.

(3) They have exhausted their actual and potential natural resources.

{(4) They have substantial manpower which is not fully utilised.

134. HfEArd} THEETSAT STRNHE FIHILROIY @oe Srarae a Jfumi= FHam 3.
(1) FHewesm anftn '’ Sheae
(2) Hiewsm anfo ‘o1’ Saed
(3) Sfcwem, ferfa sifr o vim
(@) SHfewem, &' foagwm, ‘' Saruw, fEmefad softr o3y v
Tribal diets are generally grossly deficient in :
(1) * Calcium and Vitamin C
(2) Calcium and Vitamin A
(3) Calcium, riboflavin and animal protein
(4) Calcium, Vitamin A, Vitamin C, riboflavin and animal protein

Hoedl HIMTEE S /SPACE FOR ROUGH WORK

P.TC O.



uo2 50 A

135, “EI0R TR’ 3 Ao 529 %
(1) T SRR I e RIS S0,
(2) TR SN G ATHEEE] HHA T FRUATT qREd WEIGe oA
AT
(3) UEE USMR T} AT TE FO@ T IS,
@) FE TR SR SIS TRET S e Sade qeiaet T wor wived Jim
HEAFH.

What is the objective of the scheme “Hunar Se Rozgar” ?
(1) To impart skilled training to rural artisans for self employment.

{2) A programme in hospitality sector to fill the gap of skilled manpower from Below
Poverty Line persons.

(3) A new sub programme under National Rural Employment Guarantee Scheme,

(4) A skilled training programme introduced by the Central Government for unemploy
youths educated below 8 Standard ?

136. TEREME €7 2000 TYA WaAfHE sty wreafis sremete R Trme R oEm FgrdE!
VTR Ao TSt < 378 ?
(1) foau J== (2) Taoen () Foreror g () fom worms
Which is the scheme being implemented in Maharashtra from the year 2000, for recruiting
the teachers on vacant posts in primary and secondary schools ?
(1) Shikshan sevak (2) Shiksha karmui
(3) Shikshan hami (4) Vidya Sahayyak

137, TR M Wi e goten s w= ariavame! gufes,
(1) STl IO

(2) TRTEET THed
(3) UHIHF Tfae™ FEHT

(4) UIETE B TSl

Durgabai Deshmukh Samiti suggested to increase enrolment of girl - child in
education.

{1) Appointing school mother

(2) Matruprabodhan Project

(3) Integrated Children Development Programme

(4) Mid-day meal programme
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138. FTTHATEAR F9 OEL.
(a) STEHfEH FITIR WSS FREN FAR0
(b) FHIM v fam wEe
(c) Tga FIR FETe 8 FER T ® FE
(d) wHIW Afgw frafz feh st Tox s Fa
T I
(1) (@), (c) (b) (d) (2) (@), (b), (d),
G) b)) ), ) (4) () (d), () )
Arrange in chronological order
{a) Unorganized Workers Social Security Act
(b) Employees State Insurance Act
(¢} Contract Labour Regulation and Abolition Act
(d) Employees, Provident Fund and Miscellaneous Provisions Act
Answer Options :
(1) @), () (b), (d) (2) (@), (b), (d), (c)
(3) ) (&) (d), 4) (b, (d) @ @
139. Dwee fFene B ?
(1) A SO 9%
(2) T ST AT T IR |
(3) S AWV e A=A WIS HIgn TR S 960
(4) TR FOT 9%
Population explosion means ?
{1) Increased rate of births
(2)  High birth rates and high death rates
(3) Drastic shift in the balance between birth rates and death rates
(4) Increased rate of Death
140. gfen Wt Iy g faemdier=n gl T FEwHo 9d faeneatn aeiets) sm

VIR A g 2

(1) W T TR $152mEhT

(2) WIS WS TH AEHRA

(3) ENUAAE TN AR

(4) THISUH! HIVEAE AT

Which course is compulsory for all the students of Bachelor's Preparatory Programme
conducted by the Indira Gandhi National Open University ?

(1) Preparatory course in General Mathematics

(2} Preparatory course in Social Science

(3) Preparatory course in Commerce
(4) None of the above
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141. 2011 =01 SFTATAR MRAR 0 1 6 TAERIG Hot =41 STTe FHI9T 900 Saf HHY S ioman T
3R ? (1000 THHAM Hot=an S THI)
(a) SYIRN, JEH F fawr
(b) ITWIEE, ITHR T FH_ 3 TR
(c) ToI=Ie Wew, FRES A WYY
(d) s, ey 9me 3 afrerg
st wivET faum/faum StieR o ?
1) @OMI@ @ @@ (3) & (b) @ @) BT E
Which of the following states have 0 to 6 year Sex Ratio less than 900 as per Indian census
2011? (Ratio of female births per 1000 males)
(a) Andra Pradesh, Assam and Bihar
(b) Uttarakhand, Uttarpradesh and Jammu and Kashmir
{c) Himachal Pradesh, Jharkhand and Madhya Pradesh
(d) Orissa, West Bengal and Tamil Nadu

Which of the above statements is/are correct ?
(1) (@), ()and(d) (2) (a)and (b) (3)  Only (b} (4) (a), (b) and (c)

142. NTANEIS UsFTETeGEH! Gore @ foarm =,
(a) STHFEST FIBT HRATE SF FFIT qeq M. Ty IR Ffifdiee F wen o,
(b) 11 = TEINE T (2007 - 2012) 58 TR MR HiHd €7 3.
Tt FIA/ Bt oM/ fRum atET e ?
1y (@ % (2) (b) FH
(3) (a) ST (b) =N (4) (a) @ TR anfer (b) & T

Consider the following statements in the context of employment in India :

{a) Inrecent past, there has been decelaration in growth of employment in India inspite
of accelerated economic growth.

(b) 11" five year plan (2007 - 2012) was aimed to create 58 million job opportunities.

Which of the statement/statements given above is/are correct ?

(1)  (a) only (2)  (b) only
(3) Both (a) and (b) (4) Neither (a) Nor (b)
143. TOGAH FIvE/FoR e ST gar 9 1985 ¥ Hefha Aegar/q 2
(@) T m (b) THEHM () fa=wmE (d) it
e W e,
(1) (a) 3 (b) 2) (b) %N
(3) () o (d) 4) (d)®H
Which of the following was/were not the theme/s of International Youth Year 1985 ?
(a) Participation (b} Integrity {c¢) Development (d) Peace
Choose the correct option .
(1} (a) and (b) only (2) (b)only
(3) (c) and {d) only 4) (d)only
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144, FHY YR 9 379 Fieq S oM@l
(a) THFa Swr () T T 30 vame fetm Somd S
(b) TEEEE dH (i) T A v S S
(c) T e (iii) FCIOERR A VETIUAEIET WA Sy
VT
(d) O ST (iv) TS A WA A HROTES deme
O SR

@ @M () (d
U @) @) @ @)
2 G) @) @) @
@ v @) W @
(4 @ Gv) @ Gi)

Match the Types of unemployment and their meaning.

(a) Mechanical unemployment (i) Unemployment created by agricultural or
Industrial sector.

(b) Structural unemployment (i) Unemployment due to new Technology

(c) Seasonal unemployment (i) Lack of money with Government for the
implementation of welfare scheme

(d) Urban unemployment (iv) Unemployment due to economical reasons

in the backward areas of the country
@ @® © @
1) @) ™ @ @
() ) (@) (@) @
() ) @) @@ @
@ G @) @ (i)

145, YRE SFIGH SR HeeA= GEATTSH 98 I HoeTd Foia Hiaem Ted 3 ? - SIfaes
TR WHAl § IRATE SRS (316 H1 FAE -2
(1) T VIRAE A YEF FH HGE SR HUq R,
(2) TR FAS TR A TR AARA ST TS o,
(3) TR AR HIS TAE WA Y201 fowg Wae=a1 RQEigaT Srar S 1.
(4) <IIER TR FEAT ST SYHTIAT STHRG $IR SG9 Tl
India being a founder member of the WTO has been following the WTO decisions.
Which of the following is incorrect about WTO and Indian trade ?
(1}  WTO has been urging India to lower import duties.
(2) India has allowed the import of only new cars.
(3) Action against chinese dumping of goods can be taken only within WTO provisions.
(4) WTO agreements do not discriminate on the basis of size of industries or enterprises.
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146, MfaF STRTT fEa 2013 = HvarH :

(1) SEW W

(2) AT offvT STRF

(3) TAMN SCAUGH AT TR

(4) STTARTI AT TRET

The theme of ‘World Health Day-2013" -

(1) High blood pressure

(2) Urbanization and Health

{3) Protect'mg health from climate change

{4) International Health Security

147, WgH T fawE FREFEIH 14 91, 2013 I 999 fomm FRwiwman <=t 9 ey S,
187 TUWYA YRATE] FAE 136 O HE. QOGS HIV RN GTR hHAE SaarEet
Fon e ?

(a) ST gHar (b) f&m Uik
() MEEAR® yig (d) I IE T WS T
W&ﬁ?ﬁi:

(1) (&) (T (2 () @) 3) (2 ) T() (@) (), (o) 3T (d)

The United Nations Development Programme released the list of nations as per the Human
Development Index on 14t March, 2013. India ranks 136th among 187 countries. Which
of the following criteria were utilised to determine the ranks.

(a) Access to knowledge (b)  Sex ratio
(¢) Progress in life expectancy {d) Gross National Income Per Capita

Answer Options :

(1) ®) @and(d) () () Gand@ G) (@) Gand(© @ (), andd)

AT HIHTETE ST /SPACE FOR ROUGH WORK
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T (a), (b), (c) Fasmr=n 5 == (p), (), () Freow=n faem =

(a) STHM ToUIHE 1981 9 DIPHEA] AFs NI e .

(b) 1991 2 97 § HVANE SHWEH IHe TR Jga 7.

(c) wigt TeaTET ATt foreEaTd e TSN, IS\ 9 (e STfa RIS 2001 9 SHa e
HEFS AN e,

(p) ITEHHHT TSR 1981 AW TTVAT S THS 6.

() TUIESHMA T THAD SRS T 9 FAT 1991 A ST AHS TRV FT4 ST,

) T SHEYMIS FSFSAT 2001 St FTHH €5 v AL

faum (a), (b), () TR AT

HIUT HRO 1 w1 faarTRia 9 e,

() (p) T A (q) T (2)  (q) T A (1) TR

@) (p) TET (r) M 4) HUEE T

Consider the following statements (a), (b), () and reasons (p), {q), (r) :

(a) The population figures for 1981 of Assam were worked out by interpolation.

(b) The population figures for 1991 of Jammu and Kashmir were worked out by

interpolation.
(¢} The population figures for 2001 of Mao Maram, Paomata and Pural Subdivisions of
Senapati District of Manipur were estimated.

{(p) The 1981 census could not be held owing to disturbances in Assam.

(@) The 1991 census result of Jammu and Kashmir had to be cancelled due to technical
and administrative reasons,

{r}  The 2001 census could not be held owing to disturbance in the three subdivisions of
Manipur.

The statements {(a), (b) and (c) are all correct.

State whether p, q and r are the correct

(1} Neither (p} nor () (2) Neither (q) nor (1)

(3) Neither (p) and (r) {4) None is correct

149.

ATH! e SR 2012 WIS SOHEIE FIOAR S B 2

(1) T (2) wrEa (3) Y= (4) BER

In 2012, which of the following places had Jalsatyagraha agitation ?

(1) Harda (2) Khandwa (3) Bhopal (4) Haridwar

150,

Mo s o TR R STesEn e
(1) = (2) ewiar] (3) FTS 4 3M
In shala the teachers teach the children in forest areas far away from villages.
(1) Ashram (2) Adivasi (3) Kanavu (4) Kuran

-000-
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I — (99 1 T 2. )

@) TR fafsa oww fafire e &= M (% 96) TR, WqiheaiaiE Swetpa a1
TR FTRIET = HH R § HIG T S0 %0 9K, 318 AFC IEe 9 IR SHIEIa
AR SR e H rigmed drn AR ey FdEEs sfufem-g2' arte wadiqen FREE
TR IS 9 AT A FAG T T FRAHA AO/FFN TR Tw TR e g2 s
KIER I

(9) T TEUCHAE emar fafea Fod Y@ duearat eIl 8 Ty WA Tenhaei
U4 IO WEETN R, W wien FHymEeT vangd] steae nuear ITafAd e Wi-1
ArayETHS T T i o IEvTE o

T 99
T RAE 201, WIS 96 TR FIOATES! S0 gea: T S 2
{1y & g Il 2 TR fERTATR
(3) T UwERA T @) TIPS e
TR gy e (3) T U W o R, ®me W UN Sw (3)! e aa
WIHEHATH 599 5. 201 FARie IR0 ((3)"' ¥ Tge U Srifed ded St seveh
e

vhm201. O @ @ @

A TS T TEYfahdie yoE Ul gOEl SUEHE 81 (R0l [ Riaee
TAFEI® 1 O FAFIEEHIRE Wit aqs Uiy seifed % JEaE.  gTdiar
o FA TEE WedT IO, Awe 71 g I A 4.

vIs
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